Assignment

Simplify each and state the excluded values.

X2 +4X+3
6x% + 36X

1)

r’ —15r+50

3
) r’—3r—70

X2 +2x — 48

5
) x> +7x—8

n’+5n-24

7
) 4n% - 20n

2_36
9 2

20a + 24

11)
20a - 20

49p + 28

13)
49p - 21

15
) 9m? — 9m’

n>+6n+5

17
) n®>+9n+8

x> —11x+ 30

m? +4m->5
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Name

ID: 1

Date

Period

42n% —30n

2 -
) 18n% — 18n

m? —4m-5

4)
Sm+5

vZ+4v-21

6)
4v — 24

b2 +2b — 48

8
) b?—b-72

n®+11n+30

10)
6n + 30

12k? + 8k

12) ————
) 28k? — 40k

X% — 4x — 45

14) ——
) x> —13x + 36

r’ +13r+36

16)
r + 63

n’ +5n-36

18) ————
) n?+13n+36
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2 2
X" —6X+8 r-—10r + 25
19) 2—+ 20) R

x> —10x + 16 r> +4r-45
12x% + 24x 9n? +27n
o1y 12X 24X 22) =
28x° — 16X 21n“ +3n
2b% + 12b 14a + 35
23) 5———— 24)
b +13b + 42 35a + 56
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Answers to Assignment (ID: 1)

(x+1)(x+3) n-5 r-5.
2 6x(x+6) 0. -6} 2) 3h-1)" o, 1} 3) r+7° =7, 10}
m-35 X—6 (v+7)(v—3)_
4) T! {_1} 5) X — 1 ’ {_8! 1} 6) 4(V—6) ) {6}
(n+8)(n-3) b-6 X+6
7) 4n(n_5) ’ {015} 8) b_91 {_8’ 9} 9) X_5 ' {5!6}
n+6 5a+6 3k+2 10 p+4 (3
10) 6 -5} 1) 5a-1)" ) 12) 7k - 10" {0’ 7} 13) Tp-3" {7}
X+5 (m+5)--1 r+4
1)~ {4,9} 18) o 5 {0, 1} 16) ——; {-9}
17y M0 g 18) 1% 14 o) 19) 224 105 200 =2 (L9, 5)
n+3§ n+4 X—38 r+9
21) 3(x+2); {o,i} 22) 3(n+3); {0’_1} 2) 2b — 24) 2a+5 {_§}
X —4 7 n+1 7 b+7 5a+8 5
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ID: 2

Name
Assignment Date Period
Simplify each and state the excluded values.
6n+2 v+ 16
1) 2 i ouria
10n + & V- +9v+ 14
X%+ 9x + 14 x> — X — 56
3) 2 2
X +3X+2 X"+ X-=72
9k + 90 6_5p_ p2
5) 6) ~5
2k + 20 2p°-2p
x* +x—20 x*—16
7) S 8)
X —Tx+ 12 5x+20
n% +12n + 35 m?+m—20
) T 10) ————
n“~+17n+70 7m-— 14
10r +8 6b + 18
11) 12) ————
4r — 4 b? + 13b + 30
6n% — 42n vi-12v+32
13) 57—~ 14) ————
n-—10n+21 V- —6v-—16
15x% + 24x 4n - 20
15) ———— 16) 7———
6X” + 30X n-+16n+ 63
10a + 100 244p-21
17) ———— 18y PP — 20
a“—100 15-5p
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k? — 3k — 28 ) 15x + 10

19) ———— 0
) k? — 11k + 28 ) 15% — 50
21) 6n—12 2) Or — 45
6n + 20 r’—3r-28
2 2
m? - 36 X~ —36
28) 24) 5 Zsax
m* +m—42 9x” — 54x

LT wsgsgs ath-vsorlsheel ory

math-worksheet.org



Answers to Assignment (ID: 2)

3n+1 [ 4 8 i, X+7 (o X+7
2 5n+4’{_5} 2)v+7'{2’ 7] 3)x+1’{ -2} 4 x+9’{9’8}
9 (6+p)-—1. X+5 X—4
5) 5’ {_10} 6) 2p2 ) {O! 1} 7) X—3 ) {314} 8) 5 ) {_4}
n+5 (m+5)(m-4) 5r+4
) o {-7,-10} 10 Tn_z) {2} 11) A1) {1}
6 . 6—n u 3 5X+8 ) _
12) = {3,710} 1) ——: {3,7} 1) 28] 15) Wrs) {0, -5}
0 (n j(:)zn? 9); 7.9} 17) aiom; =10, 10} 18) (pi)._l; B3]
19) k+4 47! 20) 3x+2 (10 21) 3(n-2) . [ 10
k-4 """ 3x—10’{3} 3n+10’{ 3}
or-s5) m+6 X+6
D ) T B g e 2R
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Assignment

Simplify each and state the excluded values.

56n + 24

1)
16n + 48

15b% +27b

3
) 9b% — 30b

9n — 90
40n? — 4n°

10x - 10

7)
4Xx + 6

x> — 21X
x> —9x + 18

9)

11
) k* — 4k — 45

13
) 10m? — 90m

16p +32

15)
16p - 32

r’+9r+ 14
r’+4r+4

k? + 13k + 40

m? —2m — 63

LT wsgsgs ath-vsorlsheel ory

Name

ID: 3

Date

Period

x> —2x-3

2
) x>+ 8X +7

r’—12r+27

4
) —r? + 14r — 45

30v + 18

6)
12v +6

a’+5a-36

8
) a’ -8l

7n? = 35n

10) —
) n>—6n+5

10x - 20

12)
10X — 25

n>+9n+ 14

14
) 3n% +6n

6X—06

16) —
) x> +7x—8

b2 +5b-6

18
) 5b-5
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18n2 +30n 27a+45

19) 20)

42n% +12n 63a+ 63
6> + 36x> V2 +6v—27
21) 2"'— 22) voHov=27
X“+ 15X+ 54 4v + 36
6n° —24n 15k — 15
23) - o 24) Azl An
n—6n+8§ 35k + 30
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n+3
2(n+3)

13
) 10m

17) T i)

21)

; {-3)

5) —%; {0, 10}

2)
6)
10)
14)
18)

22)

Answers to Assignment (I1D: 3)

X—=3
X+7 '
5v+3
2v+1

m
n-1°
n+7.
3n
b+6

5
v—3

=

; {9}

'ﬂ@ B
%f wsgsgs ath-vsorlsheel ory

3)
7)

5b+9
3b-10"

5(x - 1)

2X+3
k+8

2
12
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Assignment
Simplify each and state the excluded values.

X2 +6X+9

1
) 5X=35

—p*+12p-32

3
) p? —12p + 32

14r + 35

5 ———
35r+ 14

X% + 18X + 80

7
) X2 +7x - 30

4v + 32

9 -
)v2+14v+49

30n? = 36n

11) —————
) 12n? — 30n

x? — 10x + 21

13)
88X — 56

a’+2a-8

15
) a’+a-12

k> +4k -5

17) ———
) k? + 3k — 4
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Name

ID: 4

Date

Period

m? + 10m + 16
m? —5m- 14

2)

n?—12n+ 32

4)
5n—40

n+7n-8

6 -
) nZ+9n-10

21 — 4b — b?

8
) b’—b-6

45X + 54

10)
45x - 27

4v3 — 28v?

12) —M—
)v2—12v+35

4X + 16
TX + 28

14)

n?—13n+ 30

16
) n% —4n — 60

p? —13p+30
p? —20p + 100

18)
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x> —8x+7 30r? + 48r

19) 20)

7 — 6X — X* 30r% — 24r

70m + 70 nZ—7n+12
01y M*T 22) T

30m + 80 n-—9n+ 18

2 2

X"+ 2X—48 n°+13n+40
23) ——— 28) —5——————

10x° — 60X n“--5n-50
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Answers to Assignment (ID: 4)

(x+3)* o MH8 3) -1; {4,8}
1) 5(x—1)'{1} )m_7,{ 7}
r+s5 2 n+8 X+8
) Sz {_5} O 0 t-10.1) N3 t-10,3)
9) 4(v+8); 7} 10) SX+6 . {3} 1) Sn=6, {0’3}
(v+7) 5x-3" |5 2n-5 2
x—3 4 a-2
13) ; {7) 14) —; {-4} 15) ——; {~4,3}
8 7 a-—
k+5 p-3 (x=7)
) g {4, 1} 18) 10 {10} 19) - {-7. 1}
m+1) (8 n—4 X+8
- {—3} 22) — {3,6} 23) o {0, 6}
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ID: 5

Name
Assignment Date Period
Simplify each and state the excluded values.
2b—12 n? —2n-63
O e Py 2) —————
b? —10b + 24 4n - 36
X +9x + 14 7v? + 28V
) 5—— 4y —
X +9x+ 14 Ve +9v+20
a’—1 p’+7p-18
5) 6) 70—
3a+3 p°+4p-45
7 20X + 80 9k* — 81k>
30x — 20 k> — 17k + 72
9) 14n + 56 r’—8r+15
49n — 14 r? — 14r + 45
x> +2x—15 7m? — 63m?
11) 5———— T
X“+9x+ 20 m-+4m-—12
6n — 30 Vi + 11V + 18
13) 59— —— —
n“—11n+30 Vi—-V—-26
5b—40 n +12n + 20
15) 50— _
b’ —9b+8 4n + 32
72 — X — x? 10a—10
17) 5———— —
X“ — 16X+ 64 a‘—-3a+2
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6k + 6 k? -5k +4

19 20) ———
) 14k — 6 ) 10k> — 40k
21) 21X + 7 22) 10n + 70
14x — 28 n+11n+28
2 2
16 63 4p-12
23) X+ 16X + 24 p™+4p

X2 +x—172 10p* +60p
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Answers to Assignment (ID: 5)

2 f46) 2 L o) 12T 9 T 4)
92ty ekl Rl 2E g Xy
SR NI A

12) (nZT é;?m 9)2) (6,2} 13) %; (5,6} 14) ztz 12,3}

1 s 19 :a(_f ;)10); -8) R

18) %; (1,2} 19) %; {%} 20) lio_kzl . {0, 4} 21) % 2}
22) nlf4; (-4,-7) 23 ii; (9,8} 24) plT_pz; {0, -6}
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Assignment

Simplify each and state the excluded values.

x> —6X+8
x? +5x — 36

1)

m> +m-6
m? —4m - 21

x2 -9
x> -9

5)

14n? - 6n

7 -
) 4n? — 14n

8X + 56

9 -
) X +9x + 14

2
X~ +6X-27
11) hl

13)
4k + 28

x> —x—30

15) ——m——
)x2+2x—48

m? —8m+7

17)

x> —10x + 21

k% + 15k + 56

m? —9m + 14

LT wsgsgs ath-vsorlsheel ory

Name

ID: 6

Date

Period

9n® — 63n?

2 -
) n?—17n+ 70

r’—11r+24

4
) r’ —3r—40

35b% +7b

6 -
) 21b% +7b

vZ—14v +49

8
) v? —49

7a—21

10) —mMM8MM
) a’+5a-24

p?+12p+32

12)
3p+12

n’+3n-4

14) ———
) nZ+10n + 24

35r+28

16)
14r + 21

56x + 24

18)
40x — 24
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n2 —12n+20 Vi—dv+4

19 20) ———
)n2—16n+60 )v2+5v—14
6n— 18 9x -3

o1y [ON-18 22) —
n?+3n—18 15x — 21
3b-6 a’+5a—50
23) 57— 20) S0
b? — 10b +9 a”—-2a-15
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m-1

17) P {2,7}

21
) n+6

a+10

24)
a+3

; (6,3}

2)
6)
10)
14)
18)

22)

Answers to Assignment (I1D: 6)

9n?
n-10
5b+1;{0,_l}
3b+1 3
7
a+8’
n-1
n+6"

TX+3 {3}
5x=3 " |5

- {7, 10}

'ﬂ@ B
%f wsgsgs ath-vsorlsheel ory

-2
3 12 (3,7
m-7

7 =3l 7
2n—-17 2

——

15) X2 (g 6

19)

2r+3"’ 2
-2
20) Y2 (7,2}
V+7
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Assignment

Simplify each and state the excluded values.

10X + 90
X% +9x + 20

3
) k? —25

16k + 32

5) ——
40k + 64

n +15n + 54

7)

8m? + 4m

9 -
) 28m? — 36m

11)

13)

27x+ 90

15)
18X + 36

17
) x> +8x+ 15

k? + 15k + 50

2n° +18n?

x> —7x - 30

LT wsgsgs ath-vsorlsheel ory

Name

ID: 7

Date

Period

X% +3x — 54

2
) 7x? — 42X

30n + 100

4)
70n + 20

p?+10p+16

6
) p>—-3p-10

x> —7x—18

8 -
) x> — 12X + 27

r* +4r — 45

10
) ar3 + 4r?

b +4b-12

12) e
b° + 14b + 48

3v—-15
25 —v?

14)

16p? —32p

16
) 16p* —72p

a’+2a-280

18) —8MM——
) a’-12a+32
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k? + 12k + 20 m? + 19m + 90

19 20

) k + 11k + 18 ) m? + 15m + 50
8x? — 28x r? + 16r + 63
21) — =22 22) 2+—+
8x° —28x r-+4r-21
n+8n-9 x? +3x — 28
23) —— 24) ———(———

3n-3 X" =5x+4
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Answers to Assignment (ID: 7)

10(x+9) X+9 k+10
1) 1 4)(x13) {-4,-5} 2) o {0, 6 3) s
2 3n+10 {_3} 5) 2(k+2) {_§} 6) p+8 (25)
n+2 | 7 5k+8 " | 5 p-5"
X+2 am+1 (.9 (r+9)(r-5)
s Y 9 ny 03 e
4x* b-2 -n+1
11) ea {-2,2} 12) bog {-6, -8} 13) e {4}
3x+ 10 2(p-2) . (. 9 x=10 .
15) i) {-2} 16) 209 {0,2} 17) s {-3, -5}
19) kk++190; (2,29} 20 Eiz (=5,-10}  21) 1: {o,%}
23) 1Y ) 20y X7 0y g
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{0.-9}

; {-5.5)
{4, 8}

; {-7.3}
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Assignment

Simplify each and state the excluded values.

15b-21

1)
6b +30

n?—-3n-70
9n> + 63n?

3)

n>—8n+7

5 -
) n’ +3n-70

8k +4
8k + 20

7)

n?—13n+ 30

9
) 8n® —24n?

7m + 35

11) —
m* + 14m + 48

6x> — 54x°

13) ———
) X2+ 13X + 42

6n° +30n?

15) ———
) n? + 14n + 45

20%% + 10X
50x% — 60X

LT wsgsgs ath-vsorlsheel ory

Name

ID: 8

Date

Period

2v—14
vi+v-—56

x> +3x—4

4
) X2 +x—12

56a + 80

6) ——
l16a + 48

x> — 20X + 100
x> —17x + 70

8)

x> +3x—18

12
) x* +3x—18

10m - 60

14)
3m-18

r’ +13r+36

16
) 4r3 + 16r?

10b% + 10b

18)
8b + 8
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n+n-90 5v—-20

19) ———— 20) —mmM8M8
) 4n - 28 )v2+v—90
21) X2 +3x—10 22) x> -1
X2 — 10X+ 16 x> +6X+5
2) k* — 3k +2 24) 9a + 81
—k*>+7k - 10 a’-a-90
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Answers to Assignment (I1D: 8)

5b-7 n-10

_— 2 .
e R e S I Bt L B e SR
n-1 7a+10 2k+1 (5 X—10
) o {-10, 7} 6) ar3) {-3} D Srs { 2} 8) ~ {7,10}
n-10 p+10 7(m+5)
? gn* 0.3} 0 p+2 " 23] = (m+6)(m+38)’ 1=6,-8)
12) 1; {-6, 3} 6x*(x-9) 10 .
B b 0T e
2
15) n6:]_9; (=5, -9} 16) r4+rz9; {0, -4} 17) ii: {0,2} 18) Sjb; -
(n+10)(n-9) sv—4) X+5
19) 4n-7) ) 20) (v+10)(v-9)" =109} 2 g 2,8
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Assignment

Simplify each and state the excluded values.

On —45

1 -
) -n?+9n-20

20m? + 20m

3 -
) 70m? + 80m

10r? + 50r

5 -
) 35r2 — 15r

b?+b-90

7 - -
) b?—b-72

vZ+12v+20
vZ+v—90

9)

8N+ 72
11) -

13
) k? — 13k + 36

x> +3x—18

15
) 6x% + 36X

12n% — 18n

17) ——
) 12n% + 48n

n +18n + 81

k? — 12k + 32

LT wsgsgs ath-vsorlsheel ory

Name

ID: 9

Date

Period

p? — 14p +45

2
) p’+2p—35

x? — 5% =50

4
) X2 +4x-5

X% +2x — 80
2Xx— 16

8n? + 16n
n>+9n+ 14

8)

10)

12)

4x — 12
4x + 20

14)

X+ 21

16) —
) x> +4x +3

p?—17p+72
8p* —64p

18)
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2 2
m*+2m-3 m* + 15m+ 50
20)

19)

m?>—-m-12 3m =30
2 2
n“+3n+2 r-—13r+30
21) h+on+s 22) 5 -
Sn+5 r-—19r + 90
6X + 60 5n + 35
23) 57— 24)
X* + 17X+ 70 on + 42
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Answers to Assignment (I1D: 9)
p-9

. _ 2(m+1) 8
D {4,5} 2) a7 {-7.5} ) {o,—7} 4) {-s, 1}
2(r+5) 3 X+10 b+10
R RUE L E DI isel 8 s 2]
0 2 o) 10 XL ) 1) > (-} 12) = {1,2)
Y 8 n+9 a—
k-8 X—=3 X—=3
13) o {4, 9} 14) s {-5} 15) o {0, -6} 16) {-1,-3}
2n-3 p-9 m-1_ .
17) i)’ {0,-4}  18) ETH {0, 8} 19) {-3,4}

(m+5)(m+10)

oo o2 R =

20) 22) P {9, 10}

23) . {-7,-10} 24) %; {-7}

X+7
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Assignment

Simplify each and state the excluded values.

14x + 35

1) —
21x+49

30 — 7b — b?

3 -
) 10b* — 30b?

a’+5a+4

5 -
)a2+14a+40

2__
5y P =8p-9

p’>—16p+63

m? +5m - 14
6m? — 12m

9)

5r—10

11) ——
)r2+3r—10

24b + 48

13)
16b — 24

4x+32
15) -

2
-1
17) 3x 8X

x> —2x — 80

48 — 2x — X2

LT wsgsgs ath-vsorlsheel ory

Name

ID: 10

Date

Period

6V —2v
4v? + 16v

k? — 6k — 7
k? — 5k — 14

5% — 35x

6 -
) x> — 15X + 54

X2 —x-2
X2 +6X+5

n®—8n-20

10
) n?—8n-20

3V + 15v2

12) —
) vi+v=20

8n +24
12n -8

14)

63k + 63

16)
18k — 63

a’—16a+ 60

18) ——MM——
) a’-12a+36
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n?—5n-50 n>+11n+18

19) 20)

n?+7n+10 n% +12n + 27
x?—7x—18 X2 +4X + 4
21) 5——— 22) —5———
X“ —19x + 90 6X° + 12X
2
m? —1 20p +90
23) 57— 20) = P22
m? —6m+5 70p =70
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Answers to Assignment (ID: 10)

VS agiea
5 2155 (410 6) %; (6,9} 7) Ef;;

g) i;i N 9) m6:n7; 0, 2] 10) 1; {-2, 10}

12) V"’i -5, 4) 13) %; {%} 14) %; {%}
1 e 1), E 1) - el 19 S ()

20) :ii (3,-9} 21 xx—+120 {0,100 22) X6+X2 . {0, -2}
2) 0 )

'ﬂ@ B
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k+1

4) k ) ; {_2’ 7}
5 .
11) P {-5,2}

4
15) —; 18,10
) o 8,10)
n-10

=2, -5
n+2 { }

19)

23 ML 5
m-35
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